
  

ͤ͜͢͝������������ 

����������ǡ�����ͥ͟͜͡͞ 


����	Ǥ�
������ǡ�
���ǡ�ͤͣ͟ 

$%62/87(�5($/�(67$7(  

7+856'$<� 1RY���WK 
�����30��5HJLVWHU�E\������ 
1R�0LQLPXPV��1R�5HVHUYHV 

$XFWLRQ�+HOG�2Q-6LWH 

 

)RU�WKRVH�ZKR�SUHIHU�WKH��VHFXULW\�RI�
FRPSHWLWLYH�ELGGLQJ� 

5($/�(67$7(�7(506� 

· 3URSHUW\�VHOOV�³$6�,6—:+(5(�,6�´ 

· $Q�$XFWLRQ�IHH��%X\HU¶V�3UHPLXP��RI�����ZLOO�EH�DGGHG�
WR�WKH�KLJK�ELG�WR�HVWDEOLVK�WKH�ILQDO�FRQWUDFW�SULFH��)&3��� 

· $�����RU���������HDUQHVW�PRQH\�SD\PHQW��ZKLFKHYHU�LV�
JUHDWHU�DQG�FDOFXODWHG�RQ�WKH�)&3�RI�HDFK�SDUFHO�
WUDQVDFWLRQ��LV�GXH�LPPHGLDWHO\�IURP�D�ZLQQLQJ�ELGGHU�
XSRQ�WKH�SURSHUW\�SURQRXQFHG�DV�³62/'�´�� 

· 7R�PDNH�WKH�HDUQHVW�PRQH\�SD\PHQW�IRU�HDFK�SDUFHO��EH�
DGYLVHG�WKDW������������RI�WKH�HDUQHVW�PRQH\�PXVW�EH�LQ�
WKH�IRUP�RI�D�FDVKLHU¶V�FKHFN�RU�FDVK���$�SHUVRQDO�FKHFN�
PD\�EH�ZULWWHQ�IRU�DQ\�EDODQFH�GXH�WR�HTXDO������
SURYLGHG�LW�KDV�DQ�DFFRPSDQ\LQJ�EDQN�OHWWHU�RI�
JXDUDQWHH���7R�SD\�WKH�HQWLUH�HDUQHVW�PRQH\�GXH�E\�
SHUVRQDO�RU�EXVLQHVV�FKHFN��D�EDQN�OHWWHU�RI�JXDUDQWHH�
DGGUHVVHG�WR�*7$�UHJDUGLQJ�WKLV�DXFWLRQ�VWDWLQJ�
VXIILFLHQW�IXQGV�DUH�DYDLODEOH�WR�FOHDU�\RXU�FKHFN�PXVW�EH�
SUHVHQWHG�  

· (DUQHVW�PRQH\�LV�QRQ-UHIXQGDEOH�LI�WKH�SXUFKDVHU�IDLOV�WR�
FORVH�ZLWKLQ����GD\V�RI�WKH�HYHQW� 

· $OO�VXUYH\�DQG�FORVLQJ�FRVWV�DUH�SDLG�E\�WKH�SXUFKDVHU��� 

· *UDQJHU�7KDJDUG�ZRUNV�H[FOXVLYHO\�DV�WKH�VHOOHU¶V�DJHQW��� 

· $QQRXQFHPHQWV�IURP�WKH�DXFWLRQ�VWDQG�WDNH�SUHFHGHQFH�
RYHU�SUHYLRXV�RUDO�VWDWHPHQWV��RQOLQH�SRVWV��DQG�SULQWHG�
PDWHULDO�� 

· 2WKHU�WHUPV�DV�SXEOLVKHG�RQ�*7$XFWLRQV�FRP 

· (QWLUHW\�PD\�VHOO�SULRU�WR�WKH�DXFWLRQ�XQGHU�WKH�DXFWLRQ�
WHUPV�� 


